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while (scanf("%c", &c), c!="\n")
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char c;
scanf("%d[1%c", &k, &c);
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s L= =
1k BE [E]

state diagram



S n\ kk.ﬂ—.
._tIJ:-;&:._'S“:!:

o EEBIREESHAEI..,
e HE S E Rk,

—- #IR—E=F %, e ABEELE |

HEEENAREFE
BEN/NSFE? B
AZBbCSdegfEFE«

312 4 3

AZBbCSdegfEFE4d;

count 12 31121234
3 1 2 4

1?7 F 441 -

0

123
3

int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. printf("%c", c);
I if (c<="Z") upper = 1,

while (scanf("%c", &c), c!="\n")
printf("%c", c);
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char c;
scanf("%d[1%c", &k, &c);
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I if (c<="Z") upper = 1,
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printf("%c", c);
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int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. printf("%c", c);
I if (c<="Z") upper = 1,

while (scanf("%c", &c), c!="\n")
printf("%c", c);
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upper:'] ABC...
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char c;

scanf("%d[1%c", &k, &c);

printf("%c", c);

if (c<='Z'") upper = 1;

while (scanf("%c", &c), c!="\n")
printf("%c", c);
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printf("%c", c);

if (c<='Z'") upper = 1;

while (scanf("%c", &c), c!="\n")
printf("%c", c);

ABC...

upper=1
count=1

abc...

ABC...
count++

s L= =
1k BE [E]

state diagram



S n\ kk.ﬂ—.
._tIJ:-;&:._'S“:!:

o EEBIREESHAEI..,
e HE S E Rk,

—- #IR—E=F %, e ABEELE |

HEEENAREFE
BEN/NSFE? B
AZBbCSdegfEFE«

312 4 3

AZBbCSdegfEFE4d;

count 12 31121234
3 1 2 4

1?7 F 441 -

0

123
3

int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. printf("%c", c);
I if (c<="Z") upper = 1,

while (scanf("%c", &c), c!="\n")
printf("%c", c);

ABC...
upper:'] ABC...
count=1 count++
upper=0
count=1

s L= =
1k BE [E]

state diagram



S n\ kk.ﬂ—.
._tIJ:-;&:._'S“:!:

o EEBIREESHAEI..,
e HE S E Rk,

- BIR—EFE, SRS

HEEENAREFE
BEN/NSFE? B
AZBbCSdegfEFE«

312 4 3

AZBbCSdegfEFE4d;

count 12 31121234
3 1 2 4

1?7 F 441 -

0

123
3

H7 |
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printf("%c", c);



B S8 TR
KLL%Eﬁ

- #afR—E=F =, BeABEE
REEENAREFE
BEN/NSFE? fU
AZBbCSdegfEFE«
312 4 3

=]

=k 1

int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. if (c<='Z") upper = 1;

I while (scanf("%c", &c), c!="\n")

AZBbCSdegfEFE4d;

count 1 2 3112123412
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if (c<="Z") {

else {



int k, upper=0, count=1;
char c;

scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;

if (c<="Z") {

« SEBRBESHEI ... | whie scanf™%c", &), cl=n)
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AZBbCSdegfEFE4d;
count 12 31121234123
3 1 2 4 3

if (upper==1)
count++;
else {
printf("%d ", count);
count = 1; upper = 1,
}
}

else {



int k, upper=0, count=1;
char c;

scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;

if (c<="Z") {
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AZBbCSdegfEFE4d;
count 12 31121234123
3 1 2 4 3

if (upper==1)
count++;
else {
printf("%d ", count);
count = 1; upper = 1,
}
}

else {
if (upper==0)
count++;
else {
printf("%d ", count);
count = 1; upper = 0;
}
}
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AZBbCSdegfEFE4d;
count 12 31121234123

int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. if (c<='Z") upper = 1;

I while (scanf("%c", &c), c!="\n")

if (c<="Z"){
if (upper==1)
count++;
else {
printf("%d ", count);
count = 1; upper = 1;
}
}
else {
if (upper==0)
count++;
else {
printf("%d ", count);
count = 1; upper = 0;
}
}

printf("%d", count);
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a. ZEEE count == kI, len += k (BFRHE L L HEFSE EREH)
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int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;
while (scanf("%c", &c), c!="\n")
if (c<="Z"){
if (upper==1)
count++:
else {
printf("%d ", count);
count = 1; upper = 1;

}
}
else {
if (upper==0)
count++;
else {
printf("%d ", count);
count = 1; upper = 0;
}
}

printf("%d", count);



int k, upper=0, count=1, len=0, max=0;
char c;
scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;
while (scanf("%c", &c), c!="\n")
if (c<="Z"){
if (upper==1)
count++:
else {

count = 1; upper = 1;

}
}
else {
if (upper==0)
count++;
else {

count = 1; upper = 0;

}



int k, upper=0, count=1, len=0, max=0;
char c;
scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;
while (scanf("%c", &c), c!="\n")
if (c<="Z"){

if (upper==1) _ _ - = if (count==Kk)
count++: =TT 777 len++;
else { - ) | elseif (count<k) {
£ ;o if (len>max) max = len;
count = 1; upper = 1; l’ " len = 0:
} i1}
} / I else {// count>k
else { ,/ ,' len++;
if (upper==0) e I if len>max) max = len;
count++; .-~ I len = 1;
else{ -~~~ L)
v /
count = 1; upper = 0; //
) J——— _ -
} e



int k, upper=0, count=1, len=0, max=0;
char c;
scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;
while (scanf("%c", &c), c!="\n")
if (c<="Z"){
if (upper==1)
count++:
else {
update(k, count, &len, &max);
count = 1; upper = 1;

}
}
else {
if (upper==0)
count++;
else {
update(k, count, &len, &max);
count = 1; upper = 0;
}
}

update(k, count, &len, &max);

void update(int k, int count,
int *len, int *max) {
if (count==k)
(*len)++;
else if (count<k) {
if (*len>*max) *max = *len;
*len = 0;
}. P
else { // count>k
(*len)++;
if (*len>*max) *max = *len;
*len = 1;
}
}
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AZBbCSdegfEFE4d;

count 12 31121234
3 1 2 4

123
3

int k, upper=0, count=1;

char c;

scanf("%d[1%c", &k, &c);

printf("%c", c);

if (c<='Z'") upper = 1;

while (scanf("%c", &c), c!="\n")
printf("%c", c);
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int k, upper=0, count=1;
char c;
scanf("%d[1%c", &k, &c);

. if (c<='Z") upper = 1;

I while (scanf("%c", &c), c!="\n")

AZBbCSdegfEFE4d;

count 1 2 3112123412
3 1 2 4 3

3

if (c<="Z") {

else {



int k, upper=0, count=1;
char c;

scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;

if (c<="Z") {
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B E

X
T
S
S
3o

- fafR—EF 2, BeABEE LA
LREEENARTFR? 52E1(E
BEN/NSFE? fU
AZBbCSdegfEFE«

312 4 3

AZBbCSdegfEFE4d;
count 12 31121234123
3 1 2 4 3

if (upper==1)
count++;
else {
printf("%d ", count);
count = 1; upper = 0;
}
}

else {



int k, upper=0, count=1;
char c;

scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;

if (c<="Z") {
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AZBbCSdegfEFE4d;
count 12 31121234123
3 1 2 4 3

if (upper==1)
count++;

else {
printf("%d ", count);
count = 1; upper = 0;

}
}
else {
if (upper==0)
count++;
else {
printf("%d ", count);
count = 1; upper = 1;
}
}



int k, upper=0, count=1;
char c;

scanf("%d[1%c", &k, &c);
if (c<='Z") upper = 1;

if (c<="Z") {
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AZBbCSdegfEFE4d;
count 12 31121234123
3 1 2 4 3

if (upper==1)
count++;

else {
printf("%d ", count);
count = 1; upper = 0;

}
}
else {
if (upper==0)
count++;
else {
printf("%d ", count);
count = 1; upper = 1;
}
}

printf("%d", count);
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